Exercise C-47
Hanoi(N,a,b,c) {  // To move n disks from a to c using b
      if (N == 1)

         Move(a,c)

// Move directly !!!
      else {

         Hanoi(N-1,a,c,b)  // Move n-1 from a to b using c

         Move(a,c)

// Single move from a to c
         Hanoi(N-1,b,a,c)  // Move n-1 from b to c using a
      }

}

Analysis (Why exponential!!)

Recurrence Relation
Let T(n)= the minimum number of moves to solve Hanoi with N rings.

Then from the algorithm we have: 

T(n)=T(n-1) + 1 + T(n-1) 
     = 2T(n-1) + 1.

And assume T(1) = 1 (in general you could assume it c as constant)
Then 

      T(n)= 2T(n-1) + 1

    = 2(2T(n-2)+1) +1
    = 22T(n-2)+21+1
    = 22(2T(n-3)+1)+21+1
    = 23T(n-3)+22+21+1
.

.

.


    = 2n-1+ 2n-2+2n-3+ …+1

    = 2n-1(1+1/2+1/22+ … +1/2n-1)

             = 2n-1(   (1- (1/2)n) / (1-1/2)    )

    = 2n – 1

